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* Please check that this question paper contains 15 printed pages.

* Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

* Please check that this question paper contains 31 questions.

* Please write down the Serial Number of the question before attempting it.

* 15 minutes time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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General Instructions :

(i)  All questions are compulsory.

(it) The question paper consists of 31 questions divided into four
sections — A, B, C and D.

(iti) Section A contains 4 questions of 1 mark each, Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3

marks each and Section D contains 11 questions of 4 marks each.

(iv) Use of calculators Is not permitted.
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Quéstion numbers 1 to 4 carry 1 mark each.

1. 3fe x=—%, %mamsx%z/a—ﬁo m@m%,?ﬁk‘ommmﬁ%m

If x=—%, is a solution of the quadratic equation 3x*+2kx-3=0, find the

value of £,
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The tops of two towers of height x and y, standing on level ground, subtend

angles of 30° and 60° respectively at the centre of the line Joining their feet, then
findx : y.

3. S avieTen % el A @ e w ST A T | Wfiehe 1 <A foh g
T & T 5 & |

A letter of English alphabet is chosen at random. Determine the probability that ~
the chosen letter is a consonant.

4. Pl 1 ¥, PA qe PB, %% O Tt g4 1 Ut et Yamd # 5 LAPB = 50° 2, 4t

ZOAB &1 01 fafigu |
A
P <l 0
B
JTHAT 1

In Fig. 1, PA and PB are tangents to the circle with centre O such that
ZAPB = 50°. Write the measure of ZOAB.

A

P<d O

Figure 1
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Question numbers 5 to 10 carry 2 marks each.

5. Ifd 2, AB%OW%WW%WATW%@T%Iaﬁ4A0Q=58° ?
al ZATQ 31a Hifda |
B -
0
58
2 Q
” =
STHAA 2

In Fig. 2, AB is the diameter of a circle with centre O and AT is

a tangent. If
ZA0Q =58°, find LATQ.

B
O
58
e R
< A T e
Figure 2

6. ﬁw%amaﬁwaﬁx%%qeaﬁﬁrq:
452 —4a2x + (a*-b*)=0.
Solve the following quadratic equation for x :
4x? —4a?x + (a*-b*) =0,
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From a point T outside a circle of centre O, tangents TP and TQ are drawn to the
circle. Prove that OT is the ri ght bisector of line segment PQ.

8. THIR ¥ 6, 13, 20, ---, 216 1 954 Ug J1q 1T |

Find the middle term of the A_P. 6:13, 20, ---, 216:

9. A A(5.2), B(2,-2) 991 C(-2,9) @waﬁmﬁg@r%sﬁé%%aﬁas 90° ¥, ?ﬁz
T A Td hifeTT |

If A(5,2), B(2,-2) and C(-2,f) are the vertices of a right angled triangle with
4B =90°, then find the value of .

10. 9% 79T 31 kit i foig p G—%) fogatt A(%%} g1 B(2,-5) ! firem
AT TETEE 1 i e 2 |

Find the ratio in which the point P (%, %) divides the line segment joining the

re

1 3
oints A| —, = | and B(2,-5).
poin (2 2) (2,-5)

LGk
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Question numbers 11 to 20 carry 3 marks each.
11. @ e ABC #1 &%l 10 1T e A(1, —4) & 991 A § S 1 aret
qSeTl o wem-foig (2, —1) o (0, —1) ¥ |

Find the area of the triangle ABC with A(1, —4) and mid-points of sides through
A being (2, -1) and (0, -1).

30/1/1 5 [P.T.O.
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Find that non-zero value of &, for which the quadratic equation

kx*+1-2(k=1Dx+x2=0 has equal roots. Hence find the roots of the

equation.

13. @W%Wﬁﬁgémw%ﬁmmmaﬁmw%aﬁtwﬁwﬁgﬁ
HHR & RTeR 1 399 FI107 45° R | afe dHR 30 #t 3t /Y, @ wad h) F9E I
ST |

The angle of elevation of the top of a building from the foot of the tower is 30°

-

and the angle of elevation of the top of the tower from the foot of the building is
45°. If the tower is 30 m high, find the height of the building.
14. 3 R urEt Y o W Swren T | Fie ) e 3 iR
(i) I I W ST 3R] BT AT S /Y |
(i) 3 oTET O ST 37 T |
Two different dice are rolled together. Find the probability of getting :

(i)  the sum of numbers on two dice to be 5.

(i) even numbers on both dice.

15. 3fe S,» TF THIG AG % W n UGl % AN I hh HAT 2, dF firg i
S12 =3(S3 = S,).

If S, denotes the sum of first n terms of an A.P., prove that Si2 =3(Sg =S,).

30/1/1 | 6



16. 3Tfa 3 4, Ao=OB%amAPBamAQoam’qa§mﬁa@ﬁrwv&mmﬁm
%awmmwmmﬁmu[n:%m]

Q

3THf 3

In Fig. 3, APB and AQO are semicircles, and AO = OB. If the perimeter of the

figure is 40 cm, find the area of the shaded region. [ Usen= 22]

Figure 3

30/1/1 ;i [P.T.O.
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In Fig. 4, from the top of a solid cone of height 12 ¢cm and base radius 6 cm, a

cone of height 4 cm is removed by a plane parallel to the base. Find the total

surface area of the remaining solid. (Use 7T —272 and /5 = 2.236)

30/1/1 8
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A solid wooden toy is in the form of a hemisphere surmounted by a cone of same

radius. The radius of hemisphere is 3.5 cm and the total wood used in the making

of toy 1s 166% cm?. Find the height of the toy. Also, find the cost of painting the

hemispherical part of the toy at the rate of T 10 per cm?. [Use = %2—:\

19. THid 5 H, m%wﬁawmm,ﬁaﬁﬁm& 15 et x 10 Tt x 5 AT
Sk 7ﬁﬁmm@m®ammﬁmﬁﬁmw1ﬁw§aﬁaﬁw

mmmmn[nﬁm}

5 Qe

A
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In Fig. 5, from a cuboida] solid metallic block, of dimensions

I15cm x 10 cm x 5 cm, a cylindrical hole of diameter 7 cm is drilled out. Find

the surface area of the remaining block. [ Usen = QJ

5cm

4

v

Figure 5

W b1
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In Fig. 6, find the area of the shaded region [Use ©t = 3.14]

wo ¢

Figure 6

we e
Section D
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Question numbers 21 to 31_ carry 4 marks each.

2. W REH A IES WY 3 A B | IS 30 o791 a1 AT A 2Eﬁam?hj§fﬁa
1 et e a7 28 17 firm 7 i

The numerator of a fraction is 3 less than its denominator. If 2 is added to both

the numerator and the denominator, then the sum of the new fraction and original

fraction is j—g Find the original fraction.

30/1/1 11 | [P.T.O.



22. TP S & 12 T % T, AT o Y wpet F WY F Rrw 2500 7. A
HTITIHAT & | I T TR & T 1ooﬁaaaaﬁaﬁxﬁﬂuﬁmaaa?20a€ﬁﬁ
nélmﬁﬁq%wnm%mraagméaaﬁwﬁaml
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Ramkali required ¥ 2500 after 12 weeks to send her daughter to school. She
saved X 100 in the first week and increased her weekly saving by ¥ 20 every
week. Find whether she will be able to send her daughter to school after 12

weeks.

What value is generated in the above situation?

23. x % foTe &t Fifye
;2,_—1+ 2(x3_2) =§, x#0,-1,2
Solve for x :
L+ s 2,)5#0,—-1,2

x+1 2(x=2) 5%

24, maﬁﬁq%%%%ﬁﬁgm@%ﬁﬁm%@wﬁg@aﬁmﬁwmm
Gty f
Prove that the tangent at any point of a circle is perpendicular to the radius

through the point of contact.

30/1/1 12



25, Rl 77, owaﬁﬁmmﬁgmawﬁi@ﬁmwpmﬂm@%ﬁ
ni%ﬁ4RPQ=30°%|sﬁmstﬁ%@1PQ%m@Wﬂ§%l ZRQS I1d

i |
¢ 7~ _NB

30°

JpId 7

In Fig. 7, tangents PQ and PR are drawn from an external point
centre O, such that ZRPQ =30°. A chord RS is drawn parallel to the tangent ™.

P to a circle with

Find ZRQS.

S 2 NR

30°

Figure 7

26. T s ABC s To Hife o BC = 73, /B = 60° @& AB = 6 T T
@mﬁmﬁmsﬁmmﬁgﬁﬁzsmcﬁm gmaﬁsm%gm%
C with BC =7 cm, £B = 60° and AB = 6 cm. Construct

Construct a triangle AB

another triangle whose sides are % times the corresponding sides of A ABC.

30/1/1 I3 [P.T.O.
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28.

29.

30.
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From a point P on the ground the angle of elevation of the top of a tower is 30°
and that of the top of a flag staff fixed on the top of the tower, is 60°. If the
length of the flag staff is 5 m, find the height of the tower.

T T | 203:1@‘%%1?@1@20%@11@1&3&%%1@@13@@%
a@%@mﬁmwwmrﬁmaﬁﬁm%ﬁmmmémﬁmﬁw

() 2 g3 AR

(i) T AT T

A box contains 20 cards numbered from 1 to 20. A card is drawn at random from

the box. Find the probability that the number on the drawn card is
(i) divisible by 2 or3

(i) a prime number

3R A(4, 8), B3, —4), C(0, —5) 71 D(5, 6) T st ABCD % ¥fid & 1 Tqd
%1 STHa HTd IS |

. If A(4, 8), B(-3, 4), C(0, -5) and D(5, 6) are the vertices of a quadrilateral

ABCD, find its area.

1 4 3 TR T 4 T ST h T FN @IeT I |wﬁ@ﬁaﬁﬁﬁ§aﬁ§€%aﬁaﬂi
oo T @ R 9 T 40 Bl el TSR TR | 53¢ 3 =TS FTd shitore |
A well of diameter 4 m is dug 14 m deep. The earth taken out is spread evenly

all around the well to form a 40 cm high embankment. Find the width of the
embankment.

30/1/1 14



31. 2.52%@@%@@@@wWﬁ®mhﬁmm%l
2fe 5o 3 oEm ) B 40 S € den ond W H g I 1 9 3.15 i &g ST
%,aﬁwwmmmsﬁm|
Water is flowing at the rate of 2.52 km/h through a cylindrical pipe into a

cylindrical tank, the radius of whose base is 40 cm, If the increase in the level

of water in the tank, in half an hour is 3.15 m, find the internal diameter of the

pipe.

30/1/1 15



